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D-277 Dental Physiology, Summer 2011, Quiz 4,

Wednesday, June 1, 2011

There are 4 questions. Each is worth 0.5 points. Please write the letter of the correct answer in the box provided by each question.
1. A patient has been diagnosed with COPD.  The patient has a VC which is 72 % of normal, but has a TLC of 123 % above normal.  Which is the correct choice to explain the disparity between TLC & VC ?
a. Decreased lung compliance forced the muscles of respiration to over develop, increasing TLC. 
b. *The increase in lung compliance allowed the thorax to expand closer to its unstressed volume..

c. The DLCO  would be increase, allowing the thoracic volume to increase..

d. COPD resulted in a hyperventilation state, enlarging the thorax..

e. All of the above


2. Calculate the correct value of PAO2, given the following values:  PiO2  = 150 mmHg, PACO2 = 43.2 mmHg.  Hint: use the modified gas equation and assume normal air composition at sea level.

a. 104 mm Hg

b.   63 mm Hg

c. 150 mm Hg

d. *96 mm Hg


3. If a 110 kg man has a hematocrit of 40%, a glomerular filtration rate (GFR) of 100 ml/min, and a renal plasma flow rate (RPF) of 650 ml/min, how much plasma is flowing through his efferent arterioles per minute? 

a. 120 ml/min 

b. 480 ml/min 

c.
520 ml/min 

d.
*550 ml/min 

4.
Which is a correct statement about reabsorption mechanisms in the distal convoluted tubule (DCT)?

a. *Sodium is reabsorbed by electroneutral Na+, Cl-  cotransporters but water is not reabsorbed from this segment of the nephron.  

b. Sodium is reabsorbed by electroneutral Na+, K+, 2Cl-  cotransporters but water is not reabsorbed from this segment of the nephron.  

c. Sodium is reabsorbed by electroneutral Na+, Cl-  cotransporters and water is reabsorbed through the tight junctions, resulting in the reabsorption of isotonic fluid from this segment of the nephron.  
d. Sodium is reabsorbed by electroneutral Na+, K+, 2Cl-  cotransporters and water is reabsorbed through the tight junctions, resulting in the reabsorption of isotonic fluid from this segment of the nephron.  
